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3/ hUuf axfn s/
  s= ;+:yfut axfn s/ -ejg, 3/, k;n, Uof/]h, uf]bfd, 6x/f, 5Kk/, sf/vfgf, hUuf, jf kf]v/L  k"/} jf 

cflz+s tj/n] axfndf lbPsf]df_ M

qm=;= ljj/0f PsfO k|lt PsfO b/ s}lkmot
1 ;/sf/L, u}/;/sf/L -/fli6«o tyf cGt/f{li6«o_, 

a}s tyf ljQLo ;+:yf nufot ;+:yfut lgsfon] 
-JolQm afx]s_ e'QmfgL u/]sf] 3/ hUuf axfndf

a x f n 
/sdsf]

!) k|ltzt 

v= JolQmut axfn s/ -ejg, 3/, k;n, Uof/]h, uf]bfd, 6x/f, 5Kk/, sf/vfgf jf hUuf k"/} jf cflz+s 
tj/n] axfndf lbPsf]df_ M

	 != 3/ hUuf axfn s/ k|of]hgsf nflu 3/sf] d"Nof°g M

qm=;= ljj/0f PsfO k|lt PsfO b/ ?= s}lkmot

1 ;ftbf]af6f] rf]sb]lv e]6g/L rf]s;DdM

s_ e'OFtnf ju{lkm6 85.00

v_ klxnf]tnf ju{lkm6 25.00

u_ bf];|f]tnf / ;f]eGbfdfly ju{lkm6 10.00

2 e]6g/L rf]sb]lv a'4gu/ rf]s;DdM

s_ e'OFtnf ju{lkm6 40.00

v_ klxnf]tnf ju{lkm6 20.00

u_ bf];|f]tnf / ;f]eGbfdfly ju{lkm6 10.00

3 a'4gu/ rf]sb]lv kz'ktL8fF8f;DdM

s_ e'OFtnf ju{lkm6 25.00

v_ klxnf]tnf ju{lkm6 20.00

u_ bf];|f]tnf / ;f]eGbfdfly ju{lkm6 10.00

4 ;ftbf]af6f]b]]lv ;'j]R5frf]s;DdM

s_ e'OFtnf ju{lkm6 40.00

v_ klxnf]tnf ju{lkm6 20.00

u_ bf];|f]tnf / ;f]eGbfdfly ju{lkm6 10.00



cfly{s P]g, 2079– 42

qm=;= ljj/0f PsfO k|lt PsfO b/ ?= s}lkmot

5 ;'j]R5frf]sb]lv rl/£ofªu'Daf;DdM

s_ e'OFtnf ju{lkm6 25.00

v_ klxnf]tnf ju{lkm6 20.00

u_ bf];|f]tnf / ;f]eGbfdfly ju{lkm6 10.00

6 ;ftbf]af6f]b]lv j;kfs{d'lgsf] vf]N;L;DdM

s_ e'OFtnf ju{lkm6 60.00

v_ klxnf]tnf ju{lkm6 30.00

u_ bf];|f]tnf / ;f]eGbfdfly ju{lkm6 15.00

7 j;kfs{d'lgsf] vf]N;Lb]lv cgfyfno;DdM

s_ e'OFtnf ju{lkm6 30.00

v_ klxnf]tnf ju{lkm6 20.00

u_ bf];|f]tnf / ;f]eGbfdfly ju{lkm6 10.00

8 ;ftbf]af6f]b]lv kf6Lvf]nf;DdM

s_ e'OFtnf ju{lkm6 60.00

v_ klxnf]tnf ju{lkm6 30.00

u_ bf];|f]tnf / ;f]eGbfdfly ju{lkm6 15.00

9 kf6Lvf]nfb]lv dxfb]jvf]nf;DdM

s_ e'OFtnf ju{lkm6 20.00

v_ klxnf]tnf ju{lkm6 10.00

u_ bf];|f]tnf / ;f]eGbfdfly ju{lkm6 5.00

10 kf6Lvf]nfb]lv sf]=n]=lg=sf= sfof{no 
rf]s;DdM

s_ e'OFtnf ju{lkm6 20.00

v_ klxnf]tnf ju{lkm6 10.00

u_ bf];|f]tnf / ;f] eGbf dfly ju{lkm6 5.00

11 bf]nvf ahf/M

s_ e'OFtnf ju{lkm6 25.00

v_ klxnf]tnf ju{lkm6 20.00

u_ bf];|f]tnf / ;f]eGbfdfly ju{lkm6 10.00

12 cGoIf]qM ju{lkm6 5.00



cfly{s P]g, 2079– 43

qm=;= ljj/0f PsfO k|lt PsfO b/ ?= s}lkmot

13 3/sf] If]qkmn gS;fkf; / :ynut lg/LIf0fsf] cfwf/df olsg ul/g] 5 . 

14 3/d"nL :jod\n] Joj;fo u/]sf]df Joj;fo u/]sf] a/fa/sf] sf]7f / 
3/d"nL :jod\n] a;f]af; u/]sf] xsdf ^ sf]7f;Dd 5'6 x'g] 5 .  

15 3/d"nLn] cfˆgf] 3/sf] If]qkmnsf] xsdf ;'?df :j3f]if0ff ug'{kg]{ 5 . ;f] 
sf] cfwf/df gu/kflnsfaf6 hfFr u/L axfn s/ lgwf{/0f ul/g]5 .  

@= JolQmut 3/ axfn s/sf] b/ M

qm=;= ljj/0f PsfO k|lt PsfO b/  
-k|lt dlxgf_

s}lkmot

! JolQmnfO{ k;n, Uof/]h, uf]bfd, 6x/f, 5Kk/, 
sf/vfgf k"/} jf cflz+s tj/n] /fVg ejg 
jf 3/ axfndf lbPsf]df

 d"NofÍg /sd @=% k|ltzt 


